## **15th CFC Works Details Breakup - 2022-23**

SI.No			Amount (Rs. In Cr.)	Remarks
	Biomining			
1	Implementation of Bio Mining Phase II Process for Disposal of Existing Legacy Waste at Vellakkal in Madurai Corporation (for 486523 Cum Cost is Rs. 34.95 Crore) 2022-23 Contribution - Rs. 4.00 Crore	486523	4.00	

## **Urban afforestration 2022-23 NCAP - 2022-23**

SI.No	Name of the Work including ward / Zone	Area (Sq.m)	Amount (Rs. InLakhs)	Remarks
	Urban afforestration 2022-23 - 15th CFC			
1	Development of Park at Palanichamy Nagar in Ward No.15		25.00	
2	Development of Park at Anna Nagar East Street in Ward No.35	900.00	25.00	
3	Development of Park at Palanganatham Park in Ward No.74	6160.00	74.00	
	Total		124.00	
	Urban afforestration 2022-23 Incentive Fund			
1	Development of Park at Pasumai Kudil in Ward No.03	1620.00	36.00	
	Total Rs in Crore		36.00	

## 15th CFC Works Details Breakup - 2022-23

SI. No	Name of the Work including ward / Zone	Length (In metre)	Breadth (In metre)	Area (Sq.m)	Type of Road (BT/PB)	Amount (Rs. InLakhs)	Remarks
	End to End Paving Road						
1	Widening and Relaying of BT Road @ Rathinasamy Nadar Road (B.B. Kulam Jn to Park town Jn) in Ward No.16 (unicode no.115016R02709	1900	10	19000.00	B.T.	345.00	
		1000	12	12000.00	B.T.		
	Total - Zone 1					345.00	
2	Widening and Relaying of BT Road @ Gandhi Museum to K.K.Nagar West 4th Street Jn (Reach - I) in Ward No. 31 (unicode no.115031R03836)	600	8.00	4800.00	B.T.	55.00	
3	Widening and Relaying of BT Road @ K.K.Nagar West 4th Street Jn to Raja Muthaiya Mandram Jn (Reach - II) in Ward No.31 (unicode no. 115031R03836)	600.00	8.00	4800.00	B.T.	55.00	
4	Renewal with Widening of B.T. Road at P.T. Rajan Road in Ward No.32 (Reach - I) (unicode no.115032R03857)	620.00	10.00	6200.00	B.T.	80.00	
5	Renewal with Widening of B.T. Road at P.T. Rajan Road in Ward No.32 (Reach - II) (unicode no.115032R03857)	430.00	10.00	4300.00	B.T.	50.00	
	Total - Zone 2					240.00	

SI. No	Name of the Work including ward / Zone	Length (In metre)	Breadth (In metre)	Area (Sq.m)	Type of Road (BT/PB)	Amount (Rs. InLakhs)	Remarks
6	Renewal of B.T. Road at Munichalai Main Road in Ward No.43 (unicode no.115043R04533)	210.00	12.00	2520.00	B.T.	32.00	
7	Renewal of B.T. Road at Old Kuyavarpalayam Road in Ward No.46 (unicode no.115046R04669)	300.00	10.50	3150.00	B.T.	43.20	
8	Renewal of B.T. Road at Old Kuyavarpalayam Road in Ward No.48 (unicode no.115048R04698)	590.00	8.90	5251.00	B.T.	68.5	
9	Renewal of B.T. Road at Munichalai Main Road in Ward No.49 (unicode no.115049R04748)	247.00	15.50	3828.50	B.T.	55.25	
10	Renewal of B.T. Road at Munichalai Main Road in Ward No.49 (unicode no.115049R04750)	510.00	14.00	7140.00	B.T.	99.75	
11	Renewal of B.T. Road at South Veli Street in Ward No.53 (unicode no. 115053R04873)	450.00	12.50	5625.00	B.T.	39.00	
12	Renewal of B.T. Road at South Veli Street in Ward No.85 (unicode no. 115085R06526)	658.00	11.30	7435.40	B.T.	58.00	
	Total - Zone 4					395.70	

SI. No	Name of the Work including ward / Zone	Length (In metre)	Breadth (In metre)	Area (Sq.m)	Type of Road (BT/PB)	Amount (Rs. InLakhs)	Remarks
	Renewal of B.T. Road at Chellathamman Kovil Street in Ward No.50 (unicode no. 115051S01338)	97.00	4.00	388.00	B.T.	15.00	
	Renewal of B.T. Road at Melagopuravasal Street in Ward No.51 (unicode no. 115051R14801)	210.00	9.30	1953.00	B.T.	33.50	
	Renewal of B.T. Road at North Perumal Maistry Street in Ward No.51 (unicode no. 115051R04798)	406.00	6.00	2436.00	B.T.	25.00	
1	Renewal of BT Road Surface @ Manjal medu Mini Colony Road (Indira Clony) in New Ward- 57. (Unicode no - 115057R05046)	56.00	5.10	285.60	B.T.	6.80	
	Total - Zone 3					80.30	
	Grand Total					1061.00	

## 15th CFC Works Details Breakup - 2022-23

SI. No	Name of the Work including ward / Zone	Length (In metre)	Breadth (In metre)	Area (Sq.m)	Type of Road (BT/PB)	Amount (Rs. InLakhs)	Remarks
	End to End Paving Road						
1	Renewal of B.T. Road at Tamil Sangam Service Road (North Side) in Ward No.55 (unicode no. 115055R404907)	200.00	5.00	1000.00	B.T.	17.00	
2	Renewal of B.T Road at Bharthiyar Main road Part I (Melaponnagar Main Road Junction to Mothilal Main Road Junction) in Ward No -57 (Unicode no - 115057R05048)	200.00	10.70	2140.00	B.T.	42.82	
3	Renewal of BT Road Surface @ JJ Road in New Ward-57. (Unicode no -115057R05031)	156.00	5.00	780.00	B.T.	14.50	
4	Renewal of B.T. Road at Harvipatti Road (Park South Side to Railway gate road) in Ward No. 96 (unicode no. 115096R07171)	630.00	7.00	4410.00	B.T.	45.00	
5	Renewal of BT Road Surface @ Melaponnagaram 2nd Road in Ward No.58. (Unicode no -115058R05063)	585.00	10.00	5850.00	B.T.	90.68	
	Total - Zone 3					210.00	